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1581 1 100 Zuq rftuurhuptu2 zuu bq 350 65030 185.80
15531 100 hutnurq zuu bq 4400 79200 19,00
1541 1200 pnr-uru\ urh lnul runh. (d,hp) zuu tt*r, 700 10500 15,00
1554r 100 qurhhn 2UU Lq 2100 8400 4,00
15111120 dhu uurr.lrunh zuu bq 3400 54400 16,00
15112150 dhu hunlh ELIU \q 1350 33750 25,00
15614200 pphL^ zuu bq 460 6440 14,00
15851 100 ilur!upnh zuu ttq 300 6900 23,00
15831000 2urprupur{urq zuu hq 330 9570 29,00
1531 I 100 \ruprnn$fr1 zuu Lrq 280 27720 99,00
03221410 Llruqutip euu hq 250 8000 32,00
03221 I 10 qurqurn zuu qq 350 4550 13,00
03221 100 purqnr-b euu Uq 300 3900 13,00
1533116i unh (qrnrlu) zuu ttq 280 I 400 5,0
03222100 ru4ruilurpnLq(F ZUU Lq 800 4800 6,00
15616000 htra!ur&ulltun (cnhlLru) ZLIU Lq 390 2730 7,00
15619000 hurdrup zuu \q 4s0 900 2,00
15331 153 nuul zuu hq 450 2700 6,00
15612180 urllnl-n zuu hq 280 1680 6,00
15863200 raht zLru hq 4200 546 0,13
15332291 phrJ bhnurtrh zuu trq 1200 6000 5,00
15872400 urq \hpur!pl-r ZLIU ttq 160 800 5,00
15331000 urnilurr,n zuu \q 970 2910 3,00
03142s 10 hturlhhB ztlu hruu 65 17810 274,00
15512000 0 pp{uuhp zuu bq 1200 8400 7,00
i5842310 \rupunlhl ZLIU hq I 300 3900 3,00
1s821500 hpnr2u\hrlhtr zuu lrq I 100 3300 3,00
15331 154 nlnn ZUU \q 330 1320 4,00
15613350 {urpuur\rud,rudrun zuu hq 6s0 3250 5,00
15623200 urqfrnru!udunlurn ZUU Lq 4s0 1800 4,00
15542100 !ruphur2nn zuu \q 2380 7140 3,00
1551 1 100 ItuB ZUU ft*n 420 47040 112,00


